Algebruh’s Bad 2nd
I don’t like No T Odd J/L 2nd, if you couldn’t tell. Settle for LJSZ saves or die, | guess.
This document aims to provide a high-percentage method for each of the specified PCs. Fail
queues will be noted.

|IJOS/ILOZ (99.95% / 100%)

IJOS is undoubtedly the best of the non-dupe Bad 2nd PCs. It's got a slew of queue-based
setups, and even has an analog for a one-piece queue-based setup, for Z. It's much more
finicky, though.

This is the setup for if you see Z. It's 99.54%, and fails on [JS]!,Z and [IJ]!,Z queues.

For the two fail queues, you can do these two setups. They both save L.
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Those complete the see Z strategy.
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It also has a congruent to the setup for LLJS.
If you can’t build either of those, this setup will be 99.88%, with [SJL]! queues being fail queues.
It has a 98.13% chance to avoid S/Z saves.




This is an optional setup for [JLS]! queues. This completely removes the need for OQB for
100%. If you choose not to learn this setup, the method will be 99.95%.
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|IJOZ/ILOS (99.72% / 100%)

IJOZ is definitely the second best out of these, falling just short of [JOS. It has a similar see S
setup to IJOS as well.
It fails on the same [LZ]!,S and [IL]!,S queues.

B s = T
T .
e el




ol e
e bl

These are the IS, 1Z and LSZ queue-based setups to mitigate the fail queues. Then, this fallback
setup will be 99.39%, with a 98.18% chance to avoid S/Z saves. It fails on [IJL]! and [JLZ]!
queues.

This is an optional setup for [JLZ]! queues, and it should seem very similar to the IJOS-JLS
setup.
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1JSZ/ILSZ (97.94%)

IJSZ is the worst in simple-percentage and learning-wise out of all of these, and it forces you to
use two setups. It doesn’t have any good queue-based options, either. Just don’t save into this.
It's disgustingly bad for minimal solves count. It shares, with JOSZ/LOSZ, the only proven see-7
fail queues for non-dupe 2nd, and has a single useful queue-based setup, for access I. If you
cannot access |, the setup will drop drastically in percentage.
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Jaws is better than Shoe in both minimal solve count and solve percentage.
Jaws hold | is 97.22%, with sixteen solves in a minimal set, and a 96.33% chance to avoid S/Z
saves.

Here’s a link to the solves, since there’s so many.
Shoe hold | is 96.89%, with eighteen solves in a minimal set, and a 95.86% chance to avoid
S/Z saves. It hurt to see SFinder spit out “18” when running the numbers.

Here’s a link to the solves, since there’s so many.



https://fumen.zui.jp/?v115@9gh0RpQ4BtC8g0wwRpR4BtB8xwilQ4D8g0wwglzhC8?JeAgWZASBwKBxngHBFbcRAS0wHB4G7KBQo78AZAAAA9gh0w?hRpBtC8g0wwwhRpglBtB8xwwhilD8g0ww0hC8JeAgWZAy/H?OB4ngHBFbcRAS0o9A4G7KBQo78AZAAAA9gilzhC8glAtRpQ?4ywB8BtRpR4D8AtzhQ4wwC8JeAgWZAy5/DB0ngHBFbcRASU?cOByG7KBQo78AZAAAA9gwhh0R4BtC8whg0R4RpBtB8whywR?pD8whg0wwzhC8JeAgWZAREYHB2ngHBFbcRASECLB4G7KBQo?78AZAAAA9gwwhlh0BtC8xwglg0RpBtB8wwR4g0RpD8R4glz?hC8JeAgWZAREQ9AyngHBFbcRASEqHB2G7KBQo78AZAAAA9g?whwwi0BtC8whxwR4glBtB8whwwR4g0glD80hhlC8JeAgWZA?xCIOB4ngHBFbcRASESEBwG7KBQo78AZAAAA9gywR4BtC8g0?wwR4RpBtB8zhRpD8i0zhC8JeAgWZARBAEB0ngHBFbcRAS0H?VByG7KBQo78AZAAAA9gwhhlzhC8whwwglh0AtR4B8whxwg0?BtD8whwwglg0AtR4C8JeAgWZAR+35AxngHBFbcRAS0v2A4G?7KBQo78AZAAAA9gzhwwBtC8Rpg0xwglBtB8Rpi0glD8zhww?hlC8JeAgWZAx8HOB4ngHBFbcRASkFVB2G7KBQo78AZAAAA9?gwhilRpwwC8whglR4RpxwB8whR4i0D80hg0wwC8JeAgWZAR?7/DB0ngHBFbcRASkNEB4G7KBQo78AZAAAA9gh0xhilC8g0w?wxhglAtR4B8xwxhBtD8g0wwxhAtR4C8JeAgWZAR4f2AwngH?BFbcRASU7KBwG7KBQo78AZAAAA9gzhywC8ilRpwwR4B8Btz?hD8glBtRpR4C8JeAgWYAZFk9AFrnRASo78A4sv2Av8x2Awn?AVB9gRpBtywC8RpR4zhB8g0R4BtwwD8i0zhC8JeAgWYAZFz?ABFrnRASo78A4M7KBv8x2AwnAVB9gwhQ4ywBtC8whR4wwRp?BtB8whilRpD8whglQ4zhC8JeAgWYAY1ZOBFrnRASo78A4sW?9Av8x2AwnAVB9gRpR4ywC8RpBtzhB8g0R4BtwwD8i0zhC8J?eAgWYAYVk2AFrnRASo78AYb2RBv8x2AwnAVB9gzhwwRpC8h?0R4zhB8g0R4glxwD8g0ilwwRpC8JeAgWYAWVNEBFrnRASo7?8AYLb9Av8x2AwnAVB
https://fumen.zui.jp/?v115@9gA8ywR4zhB8wwR4RpBtglD8zhBtE8RpilJeAgWaAz?5nAB5ngHBFbcRAS0+5ATIqABWYcRAylAAA9gA8Btzhi0B8B?tywR4g0D8zhRpE8wwR4RpJeAAPaAyFYHB2ngHBFbcRAS0m2?AWOqABWYcRAylAAA9gA8Bthl0hB8Btglwwi0whD8glxwR4w?hE8wwR4g0whJeAAPaAyFg2AwngHBFbcRAS0m2AUOqABWYcR?AylAAA9gA8Bti0hlxhB8BtQ4g0wwglxhD8R4xwxhE8Q4wwg?lxhJeAAPZAy/HOB4ngHBFbcRAS0o9A4G7KBQo78AZAAAA9g?A8Btzhh0whB8Btilg0wwwhD8glRpxwwhE8Rpg0wwwhJeAAP?ZAy8vKB3ngHBFbcRASkuHByG7KBQo78AZAAAA9gA8Bt0hhl?B8BtRpg0whwwglD8Rpg0whxwE8h0whwwglJeAAPZAS7nABz?ngHBFbcRASk22A0G7KBQo78AZAAAA9gA8BtzhywB8BtRpzh?D8RpR4wwglE8R4ilJeAAPZAy53UB0ngHBFbcRASUMVBwG7K?BQo78AZAAAA9gA8Btzhh0whB8BtQ4hlg0wwwhD8R4glxwwh?E8Q4glg0wwwhJeAAPZAS4nABzngHBFbcRASU8AByG7KBQo7?8AZAAAA9gA8zhBthlwhB8i0wwBtglwhD8g0xwR4whE8wwR4?glwhJeAAPZAxF4UB0ngHBFbcRASUM6A4G7KBQo78AZAAAA9?gA8BtzhywB8BtQ4zhg0D8R4Rpwwg0E8Q4Rph0JeAAPZAx8P?9A1ngHBFbcRASkVOB3G7KBQo78AZAAAA9gA8ywR4AtRpwhB?8wwR4BtRpwhD8zhglwhE8AtilwhJeAAPZAx535AxngHBFbc?RASkt2AwG7KBQo78AZAAAA9gA8ywR4AtRpg0B8wwR4BtRpg?0D8zhh0E8AtzhJeAAA9gA8Bthlh0R4wwB8Btglg0R4xwD8g?lg0zhE8zhwwJeAAPZAR4vKB3ngHBFbcRASUrRB0G7KBQo78?AZAAAA9gA8BtywR4RpB8BtzhRpD8wwR4i0E8zhg0JeAAPYA?Zl+5AFrnRASo78A48oRBv8x2AwnAVB9gA8BtywzhB8BtzhR?4D8wwRpR4glE8RpilJeAAPYAYFzABFrnRASo78A4ck2Av8x?2AwnAVB9gA8zhilwwwhB8i0RpxwwhD8g0RpR4whE8glR4ww?whJeAAPYAYVk2AFrnRASo78AYb2RBv8x2AwnAVB9gA8zhww?RpR4B8zhRphlD8xwg0R4glE8wwi0glJeAAPYAW1J6AFrnRA?So78AYLrRBv8x2AwnAVB9gA83hwwB8i0glRpxwD8g0glRpR?4E8hlR4wwJeAAPYAUVOVBFrnRASo78A4JELBv8x2AwnAVB

JOSZ/LOSZ (98.33%)

JOSZ actually suffers more at the highest level, despite being slightly better in percentage than
IJSZ for beginners. It has a relatively high amount of queue-based setups, which can help with
nullifying the fail queues.

Shoe hold S has eleven solves in a minimal set, as long as you prioritize the queue-based
setups first. It's 97.46% and has a 91.55% chance to avoid S/Z saving.

These are the five queue-based setups you need to mitigate the fail queues:
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This one doesn’t actually mitigate any fail queues, but it is a free save O queue-based setup.
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This is the TZ queue-based setup. It saves either O or I.
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This is the TJL queue-based setup. It saves O. | was actually surprised that it was a fail queue
for Shoe.
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This is the OSL queue-based setup. It saves J.
Then there’s the OJL queue-based setup. It has bad saves, but is very useful to mitigate fail
queues.

LLJS/JILZ (100%)

This is a forced dupe from PCO-Saw in the Jigsaw PC loop. It has a single 100%, 16-minimal
build.
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